
M/Sir 

 

 

 

 

 

 

 

myF  :  -  vz; NfhL (Kjyhk; thuk;) 

ghlNtisfspd; vz;zpf;if  :  11 

 

 ghlg;Gj;jfj;jpy; 68> 69 Mk; gf;fq;fis ed;whf tpsq;fpf; nfhs;f.  

 md;whl tho;tpy; ehk; gad;gLj;Jk; vz;fs; Fwpf;fg;gl;Ls;s msf;Fk; cgfuzq;fs; 

5 vOJf.  

 ghlg;Gj;jfj;jpy; 69 Mk; gf;fj;jpYs;s nraw;ghL 1 Ir; rupahff; fw;Wf; nfhs;f.  

 

1. vz; NfhL vd;gJ ahJ?  

2. vz; NfhL xd;Wf;F ,Uf;f Ntz;ba ,ay;Gfis vOJf.  

 

 

 

 

fPOs;s vz;fis vz; Nfhl;bd; kPJ Fwpf;f.  

cjh :- 

 A = 2  B = 4  C = 5  D = 7 

  

 

1) P = 1  Q = 3  R = 6 

2) X = 0  Y = 4  Z = 7 

3) A = 1  B = 5  C = 8 

 ghlg;Gj;jfj;jpy; 71 Mk; gf;fj;ijg; ghu;f;f. cjhuzk; 1 Ir; rupahf tpsq;fpf; 

nfhs;f.  

 gapw;rp 5.1 Ig; G+uzg;gLj;Jf.  

 ghlg;Gj;jfj;jpy; 72 Mk; gf;fj;jpYs;s nraw;ghL 2 Ir; rupahf tpsq;fpf; nfhs;f.  

khfhzf; fy;tpj; jpizf;fsk;> rgufKt – thuhe;jg; ghlrhiy 

ghlk;    : fzpjk; juk; : 6 thuk; : 8 

vz; Nfhl;bd; tyg;gf;fkhf vz;fspd; ngWkhdq;fs; 
njhlu;r;rpahf mjpfupj;Jr; nryfpd;wd. 

0  1  2 3 4 5 6 7 8 9 

A B C D 



M/Sir 

 

 vz; NfhL xd;iw tiue;J> Neu;> kiw vz;fisf; Fwpf;f.  

 

  

 

fPNo fhl;lg;gl;Ls;s vz;fis vz;Nfhl;bd; kPJ Fwpf;f.  

A = –3                        B = –1                        C = 2 

 

 

1) P = –5  Q = –4  R = –1  T = 3 

2) X = –7  Y = –3  Z = 0 

3) A = –6  B = –4  C = –1  D = 4 

 

 ghlg;Gj;jfj;jpy; 73> 74 Mk; gf;fq;fis ed;whf tpsq;fpf; nfhs;f.  

1) epiwntz; vd;gJ ahJ?  

2) Neu; epiwntz;> kiw epiwntz; vd;gdtw;iw tpsf;Ff.   

 

 

 

 ghlg;Gj;jfj;jpy; 74 Mk; gf;fj;ijg; ghu;f;f. cjhuzk; 1 Ir; rupahf tpsq;fpf; 

nfhs;f.  

 ghlg;Gj;jfj;jpy; 75 Mk; gf;fj;jpYs;s gapw;rp 5.2 Ig; G+uzg;gLj;Jf.  

 

1)  1 ,w;Fk; 10 ,w;Fk; ,ilapYs;s vy;yh epiwntz;fisAk; vOJf. 

2)  – 5 ,w;Fk; 0 ,w;Fk; ,ilapYs;s vy;yh epiwntz;fisAk; vOJf. 

3)  – 10 ,w;Fk; – 3 ,w;Fk; ,ilapYs;s vy;yh epiwntz;fisAk; vOJf. 

4)  – 5 ,w;Fk; + 5 ,w;Fk; ,ilapYs;s vy;yh epiwntz;fisAk; vOJf. 

 

Neu; epiwntz;> G+r;rpak;> kiw epiwntz; vd;gd midj;ijAk; 
nfhz;l vz;fs; epiwntz;fs; vd miof;fg;gLk;. 

                          vdNt ........... –3, –2, –1, 0, 1, 2, 3, .................. 

–4 –3 –2 –1 0 1 2 3 4 5 

–4 –3 –2 –1 0 1 2 3 4 5 

B A C 


